



NOMBREN°CURSOFECHA

ECUACIÓN CUADRÁTICA: por fórmula cuadrática

$$6x^2 - 7x + 2 = 0$$

$a =$

$b =$

$c =$

$$x_{1,2} = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$x_{1,2} = \frac{-() \pm \sqrt{()^2 - 4()()}}{2()}$$

$$x_{1,2} = \frac{() \pm \sqrt{() - ()}}{()} = \frac{() \pm \sqrt{()}}{()}$$

$$x_{1,2} = \frac{() \pm ()}{()}$$

$$x_1 = \frac{() + ()}{()} \quad x_1 = \frac{() - ()}{()}$$

$$x_1 = \frac{()}{()} \quad x_1 = \frac{()}{()}$$

$$x_1 = - \quad x_1 = - \quad \text{Rptas.}$$

Prof. David Huanca Ali
MATEMÁTICA